12. Critical Path Analysis 
1. Fill in the missing words
A network diagram sets out the ____________________ involved in completing a project. Some activities can only be done in sequence following the completion of a previous activity. Others can be done ___________________________. Each activity is drawn as a ________________ and they are linked together by circles known as _________________. To calculate a node’s EST, add the duration of the previous activity to the previous activity’s ____________. The critical path is the _________________ route through from the start to the finish of the project. Missing words: nodes, simultaneously, longest, activities, line, EST. 

2.  Which terms are defined by each of the following statements?

2.1 The slack available when an activity does not have to be completed in the shortest possible time.

2.2 The activities which must be completed on time to allow the project deadline to be met.

3. Analysing the Critical Path

3.1 Work out the Earliest Start Times and Latest Finish Times and put them in the nodes. 

3.2 Indicate the critical path


[image: image1]
3.3 Explain why it is so important for managers to focus on the critical path.______________________________

______________________________________________________________________________________ 

4. Explain two ways:

4.1 A manager might respond to an unexpected delay on a critical activity _______________________________
______________________________________________________________________________________
______________________________________________________________________________________

4.2 A manager might respond to a long delay on an activity identified as non-critical. ________________________
______________________________________________________________________________________
______________________________________________________________________________________

5. Drawing a Network Diagram.

5.1. Use the following information to construct a fully labelled network showing ESTs, LFTs and the critical path.

	ACTIVITY
	PRECEDED BY
	DURATION

	A
	-
	3

	B
	-
	9

	C
	-
	2

	D
	A
	4

	E
	C
	3

	F
	B,D,E
	5

	G
	C
	9


5.2 Calculate the total float for each of activities A, E and G. 
______________________________________________________________________________________
12. ANSWERS - Critical Path Analysis 
1. activities … simultaneously … line … nodes … EST … longest

2.1 Float time

2.2 Critical path
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3.1 and 3.2 Above

3.3 Because these are the activities that have to be completed on time for the whole project to be finished on time.

4.1 The following critical activities will need to be speeded up, e.g. by paying for overtime or by switching staff from other non-critical activities 

4.2 The key is to check that this has not created a second critical path. If the delay was long enough, new activities may become critical due to the delays involved.
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5.2 A = 2; E = 4; G = 3
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Q5.1 Answer





A - 3





B - 9





C - 2





D - 4





E - 3





G - 9





F - 5
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